NO. | NAME DESCRIPTION USAGE| UNIT
1 M3 CAP NUT Carbon Steel Galvanizing A Pes
2 TOP PLATE PMMA Plate , Thickness 6MM 1 Pcs

) M3*40+6,
3 M3 COPPER PILLAR | Single Headed Hexagonal Copper Pillar b4 Pes
A PCB 1 Pcs
PR . M3*5+6
5 M3 COPPER PILLAR Single Headed Hexagonal Copper Pillar Zl Pes
6 BOTTOM PLATE PMMA Plate , Thickness 6MM 1 Pcs
7 M3 SCREW M3*6 4 Pcs
8 FOOT Transparent Silicone N Pes
9
125
12:01
3| o
J| @
o

TOP PLATE UNIT: MM

125
12:01
I
o — —@
\ \
| | -
L [ e— Ik
«lig |
S ‘L 77777 @
) C1

i

| e
i % =l
BOTTOM PLATE UNIT: MM




